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1. Cardinal measure of utility is required in :
(A) Utility theory (B) Indifference curve analysis
(C) Revealed preference (D) Inferior good

2. The pay-back period refers to :

(A) The number of years a project takes to recover its investment (original)
cost

(B) The number of installment to make payment
(C) The time-lag between investment and commissioning of the project

(D) The time required to attain break-even point

3. Indifference curves are usually :
(A) Convex (B) Concave
(C) L-shaped (D) Vertical

4. The term opportunity cost refers to :
(A) Cost related to an optimum level of production
(B) Variable cost
(C) Short-run cost

(D) Cost of one product in term of production of others forgone
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b. Alternative hypothesis is expressed by :
(A) @ (B) P,
(C) Hy (D) H,
6. Correlation is expressed by :
A X (B) XP
€ r (D) TWX
7. Which is used when sample size is small ?
(A) t-test (B) mode
(C) F-test (D) none of these

8. Two events are said to be independent, as per the theory of probability, if

the occurrence of one :

(A) Prevents the occurrence of another

(B) Makes the probability of occurrence of other as zero '
(C) Affects the probability of another

(D) Does not effects the probability of occurrence of another
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5. Wﬂ&mwﬁhaﬁmt:
(A) Q TW (B) P, &
(C) H, T (D) Hg ZW
6. wEEwmy wefifa fFam W ® -
(A) =X BRI (B) P &Rl
© r B (D) WX [
7. W& TR W A@R 2 7 A = i} fewm w@m dm ¥ o2
(A) t-test (B) #EEH
(C) F-test (D) ¥ & =g T
8. wirsm fogr B SR 2 wead wWoA w6 o €, AR ow wed ¥
(A)Wﬁmﬁwﬁ%ﬁt
(B) YA ® I I F WA F Wiaw@
(€) TW F wigwEm F wafaa @ ¥

(D) TE F WAHA B UWiaa TE HE

PGT (Commerce) 2016—B 5 P.T.O.



9. The sum of squares of deviation of 20 observations from their mean is 726

and the mean is 60. The coefficient of variation is :
(A) 5% (B) 10%
(C) 15% (D) 20%

10. A measure characterizing a population is called a parameter and a similar

measure for a sample is called :
(A) Standard error (B) Non-parameter
(C) Sampling error (D) Statistic
11. Range of the coefficient of correlation is :
(A) + 0.25 (B) + 05
(C) + 1.0 D) =20

12. When variations in the values of two variables have a constant ratio, there

will be :
(A) Zero correlation (B) Linear correlation
(C) Non-linear correlation (D) None of these
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10.

11.

12.

20 IAEEFA @ fage & @ @1 am 720 ¥ 2in = w60 &, fawen i

gFTl -
(A) 5 wfasa (B) 10 wfae@
(C) 15 wfayma ' (D) 20 wfaema

N F WA w1 IO GO wEena & @ T oG TE W AW FOITH

B o:
(A) W #fz (B) Tr-fadiex
(C) - Ffe (D) wifers

(A) + 0.25 (B) + 0.5

(C) +1.0 (D) + 2.0

wa D W R g ow famen uH wWrE sgm A B R oFel @ o
(A) YA wEEEH (B) &g weEe

(C) -TEm weaay (D) =98 A =g &
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13.

14.

15.

16.

17.

Non-budgetary control tool is :

(A) Inventory control

(C) Quality control

Contribution less fixed cost is :

(A) Profit

(C) Price

PERT is a technique used for :

(A) Quality management
(C) Decision-making

Theory Z was developed by :
(A) Henry Fayol

(C) William Ouchi

(B)

(D)

(B)

(D)

(B)

(D)

(B)

(I

PERT

All of these

Sales

MOS

Project management

Organizing

Henry Ford

Charles Adams

A leader who takes decision after having discussion with his subordinates

is known as :

(A) Autocratic leader

(C) Democratic leader
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(D)

Benevolent leader

Free-rein leader



13.  Tr-awdm frem e § e
(A) =% ﬁm-am (B) W (PERT)
(C) T e (D) F =sf
14. IvEFA-—fer @
(A) = | B) fawa
(© T | (D) MOS (wsiard)
15. PERT @&t% wam i smt § :
(A) TEw wE # fag (B) waram way & fag
(c) ffla &7 & fom D) T & fag
16. 2z-fagra fFus gw fasfas e mn ?
(A) ¥l wEaE (B) & Wi
(C) fafemm =t (D) =l U
17.  UF O S o anfwd] & Aoy w foia @@ ¥, 9% weam @ o
(A)ﬁt‘agm%m. (B)’zm?m
(C) womaf=® A ~ (D) ¥&a=
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18.

19.

20.

21.

22.

All trademarks are :
(A) Brands (B)

(C) Selling (D)

Products

Ultimate thing .

Who is associated with concept marketing myopia ?

(A) Levitt (B)

(C) MeCarthy (D)

Skimming pricing is useful for :

(A) Luxury goods (B)
(C) Necessities (D)
PNB was establsihed in :

(A) 1920 (B)
(C) 1934 ‘ (D)
Money market provides :

(A) Short-term credit (B)

(C) Car credit (D)

PGT (Commerce) 2016—B 10

Drucker

Kotler

Consumption goods

Industrial goods

1894

1976

Agro credit

None of these



18 Wi 3R R
(A) @tz (B) IR
(C) faFm (D) sf=m ey
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(A) @z (B) BH
(C) el - (D) e
90. Wem AN FEd Afa eEEE wdl €
(A) faenfom 21 =g & fom B) Fwim # At # fog
(C) smEvas Tl # fan (D) shenfs wwqd + fem
21, vwE Ee 4% %9 wfga g ?
(A) 1920 ¥ (B) 1894 ®

(C) 1934 # (D) 1976 #

(A) FETHET FO (B) =fa =W

(C) &1 B/ (D) =T |+ 7@
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23.

Which is the apex financing institute for agriculture ?
(A) RBI (B) UTI Bank
(C) NABARD (D) Axis Bank

Narasimham committee is related to :

(A) Bank (B) Insurance
(C) Union Bank (D) HRM
Credit rating :

(A) is used to rate the borrowers while giving advances

(B) is used to work out performance of the employees

(C) is used to calculate the number of excellent audit rated branches
(D) is not used in any bank

A decreasing current ratio indicates :

(A) A stable liquidity (B) An increasing liquidity

(C) A strained liquidity (D) Satisfactory current solvency
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93. fy & fog vid fom wrew Waw FEEw ¥ 2
(A) s (RBI) (B) 3A 3. %
(C) g (D) UfFma &=

24. fgEw FHA TEHG ®

(A) &% 4| (B) #m |
(C) I d= | (D) WA TEYA 9EY |/
25. wfge W ¥

(A) sfim 3 T RS 1 geEE w0 B Ay
(B) mammmmﬁm
(C) Tepw o W < wmEnsi i owen o % ferg
() fedt ot &% # w@m T =1 9@ Tl
26. TUH Wedl | UM Warvla wTO T
(A) fer e (B) =gt e

(C) wEgel arErm (D) HAwSTE e YA gE
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97 At which one of the following rate, the central bank lends to banks against

government securities ?
(A) Repo rate (B) Reverse repo rate
(C) Bank rate (D) SLR
28. What is a fiscal deficit ?
(A) It is a gap between the values of the exports and imports
(B) It is a gap between exports and imports minus external borrowings

(C) It is a gap between total expenditure and total receipts of the govern-

ment
(D) It is a gap between total re;ceipts minus external borrowing
29. Expand the term ALM as used in banking/finance sector :
(A) Asset Liability Mismatch (B) Asset Liability Maturity
(C) Asset Liability Management (D) Asset Liability Manpower

30. What does the letter ‘R’ denotes .in the abbreviation ‘BR Act’ which controls

banking activities in the country ?
(A) Reformation (B) Regulation
(C) Reporting . (D) Resolution
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31.

32.

35.

GAAP required to :

(A) Global harmonization in accounting

(B) Value

(C) Price

(D) Journal

When accounting standard board of India is constituted ?
(A) 1969 (B) 1977

(C) 1918 (D) 2007
Derivative instrument is :

(A) Swaps (B) Equity

(C) Bond (D) Share

Accrual concept is related to :

(A) Revenue (B) Items

(C) Depreciation (D) None of these

Under which one of the following methods of depreciation is the amount of

the asset never reduced to zero ?
(A) Straight line method (B) Diminishing balance method

(C) Sum of year's digit method (D) Annuity method
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31.

32.

GAAP vy ¥ :
(A) oraiwa d Afvas daeA
(B) a9

(C) =™
(D) =&

Y # e W ale w o weE g3 7

(A) 1969 (B) 1977
(C) 1918 (D) 2007
= e ¥ e

(A) vy | (B) =
(C) d@nz (D) @

IS IR whEtad ¥

(A) & (B) =&l

(C) &% | (D) ¥ & =g T

frefafen & @ wa 1 g fafy @ swwla @t # o g A@ A 2
(A) wara w9 fafa (B) wedt Hey fafy

(C) ad & #% =1 am fafy (D) == fafy
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36.

37.

38.

In the absence of any contract, profit arising from partnership firm is credited

to the partners capital account in :
(A) Equal proportion (B) Capital ratio
(C) Profit sharing ratio (D) Proportion to assets realized

The ratios which measure the relative contribution of financing by owners

and financing provided by outsiders are called :
(A) Liquidity ratios (B) Leverage ratios
(C) Activity ratios (D) Profitability ratios

Company with a paid up capital of 5000 equity shares Rs. 10 each has a

turnover of four times with a margin of 8% on sales. The ROI of the company

will be :
(A) 28% (B) 32%
(C) 35% (D) 42%

Concept of conservatism refers to taking into account :
(A) All profit

(B) Only cash profit

(C) Only proﬁt..realized

(D) Profit realized and all possible losses
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37.
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41.

42.

Amount set apart to meet probable losses on account of bad debts is a :
(A) Liability (B) Reserve
(C) Provision (D) Contingent liability

On using reducing balance method on an asset of Rs. 20,000 at the rate of
10% per annum, depreciation for third years will be :

(A) Rs. 6,000 (B) Rs. 1,800
(C) Rs. 1,620 (D) Rs. 2,000

Amount spent on an advertisement campaign, the benefit of which is likely
to last for three years is a :

(A) Capital expenditure (B) Revenue expenditure
(C) Deferred revenue expenditure (D)) Contingent expenditure
Consider the following items :

(1) Debentures

(2) Prepaid rent

(3) Interest due

(4) Bank overdraft

Current liabilities would include :

(A) (2), (3) and (4) (B) (1), (2) and (3)

(C) (3) and (4) (M (), (2), (3) and (4)
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41.

42.

"t g W ® RO e W2 A O wE ® fog oem @ it 9 aweh ofe
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(C) w4fila #rm =54 (D) Z=fos =13
freafafes = s it .

(1) ==o1 9=

(2) qama feua

(3) =3 =™

(4) F= sfufasd

w5 wifae # wiva B

(A) (2), (3) 791 (4) (B) '(1), (2) 941 (3)

(C) (3) 991 (4) (D) (1), (2), (3) 941 (4)
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44. The portion of the share capital which can be called up only on the winding

up of the company is the :
(A) Authorized capital (B) Issued capital
(C) Subscribed capital (D) Reserve capital
45. Debentures can be redeemed by :
(A) Purchase of own debentures in the open market
(B) Cc;nverting them into a new class of debentures
(C) Converting them into shares
(D) Any of the method mentioned in (A), (B) and (C) above

46. Which of the following ratios is most important for judging the long-term

solvency of a firm ?

(A) Debt-equity ratio (B) Stock-turn-over ratio

(C) Return on .investments | "~ (D) Fixed assets turn-over ratio
47. Income tax i8 @ .......... tax.

(A) Sole (B) Direct

(C) Sales (D) Indirect
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44, 3w P w1 Tw femw S FEA R TR W AT W@ ¥, = wwer § 7
(A) sfazwa I6i (B)ﬁvfrnaqfh
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45. BU-wE w1 wieE e own owwan ¥
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48, Assessment year starts from :
(A) 1 December (B) 1 April

(C) 1 June (D) 1 March

49. Person is defined u/s ...........

(A) 231 (B) 2(36)
(C) 19 (D) 2(45)
50. Income from salary involve income from :
(A) Salary (B) Allowance
(C) Perquisites | (D) All of these
51. In case of company who will signed on return of income ?
(A) Managing director (B) Manager
(C) Auditor (D) Accountant

52. Gratuity is taxable under the head of income from :
(A) Rent (B) House property
(C) Salary (D) Profession
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49.

51.

52.

w1 frafm ad g= 2 ¥ -

(A) 1 f= | (B) 1 30« 9
(C) 1933 (D) 19€ |
=faq ®1 @ am & swla oftafea fem ™ & 2
(A) 2(31) (B) 2(36)
(€) 19 D) 2(45)

¥ @ o FFE @ W Wit w0 ¥ 2

(A) & (B)

(C) e (D) A =
FEE H ZYN W AF W AGH W WA TG B E 2
(A) way s (B) waHH
(C) FHPah D) EEHR
Iegdt g & fFw W@ & wola w-arg & 2

(A) feum (B) wa&M WAl

(C) aW (D) Tm
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53.

54.

55.

56.

57.

Who is liable to pay any tax is called ?
(A) Assessee (B)
(C) Tax ()
Income from the sale of land is a/an :
(A) Non-agricultural income (B)
(C) Expense (D)
Exempted income is :

(A) Provident fund (B)
(C) Horse race (D)
Delhi Municipal Corporation is a :

(A) Company (B)
(C) Local authority (D)
Which business losses are allowed ?

(A) Loss due to dacoits (B)

(C) Wages (D)
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Buyer

Authority

Cost

None of these

Lottery

All of these

Firm

None of these

Salary

None of these
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54.

F1 23 B fou o SoErE &, 9% wEem ¥
(A) HEH (B) @
(C) = (D) wifgETy

gy % famg d 3 ¥

(A) r-Ff = (B) @rm

(©€) @ (D)xwﬂﬁahi%ﬁ
55. U T A ¥ :

(A) wiFer fafa (B) wmed

() et = 3y ®  wh
56. 2welt TmafeE frw ¥ uw -

(A) vl : (B) wH

(C) T3 g (D) ¥ |/ wrg T
57. wrE =EEias g w@iEa § 2

(A) =&dt =t 3o | T (B) aaA

(C) vl D) wH q w98 7
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59.

61.

62.

DTC is related to :

(A) Tax - (B) Agriculture

(C) Paper (D) Bank

Which is an indirect tax ?

(A) Sales tax (B) Income tax

(C) Toll tax (D) All of these

Income received in India in previous year is taxable in the hands of :
(A) Resident (B) Non-resident

(C) Non-ordinarily resident (D) All of these

Raja of which princely state fled to the mountains to escape sikh army’s attack

around 1840 A.D. ?
(A) Mandi (B) Suket
(C) Kullu (D) Kehlur

Which raja of Nurpur princely state built the Taragarh fort in the territory

of Chamba state ?
(A) Jagat Singh (B) Rajrup Singh

(C) Suraj Mal (D) Bir Singh
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59.

61.

62.

DTC wafyg ¥ -

(A) #=X R (B) &g |

(C) T A D) %= |

FIH T T E ?

(A) faa == . (B) @t

(C) 2= &= (D) A ai
mﬁﬁmﬁmmﬁm@a%mm—mt?
(A) fram (B) -

(©) r-wmaren Frareh ®) A Wi

frq frgram &1 T ® 1840 # e faEl #t & F aEaw | 991 ® o
qErEl & A W T 91 2

(A) wEl (B) H&a

(C) = (D) FER

wm%ﬁsﬂwimmﬁﬁaﬁmﬁﬁﬂmﬁwm ?
(A) wma fow (B Twey &

(C) T W& () &w fdw
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63. At whit place does the river Beas enter Kangra district of H.P. ?
(A) Mirthal (B) Sandhol
(C) Bajaura (D) Chauntra
64. In which District of HP. is Lama Dal Lake ?
(A) Lahaul-Spiti (B) Kinnaur
(C) Chamba (D) Kangra
65. What is the mau.n occupation of Turis ?
(A) Agncnlture (B) Basket making
(C) Weaving (D) Music and dancing
66. In which District of H.P. is Shilla peak ?
(A) Shimla : (B) Lahaul-Spiti
(C) Kinnaur (D) Kangra
67. Which of the following dance is performed in the memory of Buddha ?
(A) Bakayang (B) Bonangchyu

(C) Japro (D) Shand
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63. = T e mm | few # wive @ waAw T & 2
(A) fargs | (B) @@
(C) =i (D) ffergT
64. ©m @ ww few & few @ H & 2
(A) wga-ffa (B) f=ir
(C) = (D) =rTE
65. T wufa @ TN W YRS HEagE 1§ ?
(A) MU (B) @t ==
(C) T &N (D) A 3R FE FN
66. fooen vda 9t ew. S P P H & 2
(A) femren (B) wga-Teafa
€ =ik (D) g
67. fFrafafas § § 9w 57 woon 95 #1 9= F few sm & 2
(A) =THEm (B) @miag
(C) <l (D) ¥
PGT (Commerce) 2016—B 31 P.T.O.



69.

70.

71.

T72.

In which District of H.P, is Talra sanctuary ?

(A) Shimla (B) Kullu

(C) Kinnaur (D) Solan

Which of the following paintings does noi bélong to Shobha Singh 7
(A) Hill Scene (B) Sohni-Mahiwal

(C) Gaddi Belle (D) Kangra Bride

Which of the following hydro-power projects is in Chenab basin ?
(A) Killar | (B) Sissu

(C) Thirot (D) All of these

Which Indian State’s/UT's tag line is ‘Give Time a Break’ ?

(A) Rajasthan (B) Madhya Pradesh

(C) Puduchcheri (D) Chandigarh

With which sport is Shakshi Malik associated ?

(A) Wrestling (B) Badminton

(C) Table Tennis (D) Gymnastics
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68.

69.

70.

71,

T2

e wongE fen. s e @ 7 ¥ 2

(A) femren (B)

(C) fa=in (D) He
frofafas § A S T o fag =1 & ¢ 2

(A) fet ® Aed-ufe
(C) T ¥ T ) N AES
et # 4 P ww fagg oo fm i & @@ J & 2
(A) e (B) &

(C) Tul D) A &+t

fpq WIRTE Toa/AE 99 W 2 R Pa Tmm U dw’ ® 7
(A) TIH (B) &A1 WH

() yEg=d D) =g

e wfes e @@ A A ¥ 2

(A) =yt (B) #=fiiz

() ZaEa 2fH9 (D) famfss
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73.

74.

-T6.

76.

Who among the following is/are associated with all party Hurriyat oonferenc'e
of J and K ?

(A) Syed Ali Shah Geelani

(B) Mirwaiz Umar Farooq

(C) Yasin Malik

(D) All of the above

Popular movie ‘Border’ was based on the battle of ............
(A) Saragarhi (B) Kargil

(C) Longewala | (D) None of these

Who among the following has been chosen for Dronacharya Award in Boxing
after the 2016 Rio Olympics ?

(A) Nagapuri Ramesh (B) Sagar Mal Dhayal
(C) S. Pradeep Kumar (D) Mahavir Singh

Approximately how many vital sites were ruined in the earthquake that shook
Italy in August 2016 ?

(A) 96 (B) 130

(C) 293 (D) 457
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73.

74.

75.

76.

fFrefafas § @ #F So-wvin # e o gffe sem A 2 ¥ 2
(A) ¥z FE wmE e

(B) HRa9 39 WIEF

(C) = afes

(D) =udaa wsfi

wwfyg feem ‘&l fog oed w snafa & 2

(A) ST (B) i

(C) wiriaren (D) 399 | =i T

2016 =1 = Fefivay & ag Fefafas ¥ ] @eae § 58 2o sag &
g & 2

(A) =rgd |9 (B)« M U@ w1
(C) TH. W HAR (D) weEn foe

2o A I 2016 ¥ anu wwe # @y fEed Weel unew (WE) @ wu
% ?

(A) 96 (B) 130

(C) 293 (D) 457
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77.

78.

79.

Which city of Myanmar is known a city of Millions of Pagodas ?
(A) Magwe (B) Pakkoku
(C) Yenangyaung (D) Bagan

Which country is collaborating with India in building six Scorpen class

submarines ?
(A) England (B) Belgium
(C) Russia (D) France

Against whom did P.V. Sindhu play her badminton final at the Rio Olympics

2016 ?
(A) Kelly Hoare (B) Carolina Marin
(C) Nazomi Okuhara (D) Thiang Vaung

What is Guantanamo U.S. Naval base in Cuba known for ?
(A) U.S. Naval Training Centre

(B) U.S. Military Prison

(C) U.S. Submarine Station

(D) U.S. Ship Building Yard
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77. w=WR % &g wer W ooner YRl w1 v e S 72
(A) wmE (B) W&
(C) FFmEm (D) =

78. M Soft ¥ v wefEdl T § A9 2w 9N @ WY weEm w W ¥ ?
(A) ¥ (B) afesmm
(C) *¥ | D) wE

79. 2016 % foi shefm § G e 3 s defin wEw fred WA A ?
@ wHw B) i
(C) =gt sirEEm (D) foamim =i

80. w1 ¥ fioa vl ® iz & ww? W feufew s e & 2
(A)'smﬁm’t'-ﬂ%mmvﬁl@%
(B) @i = i 9=
(C) =it &1 TAgsl ©¥A

(D) i & fim fafegn ard
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81. BEP is computed by :

(A) Fixed cost/PV ratio (B) Fixed cost/100

(C) 100/Fixed cost (D) Sales/Profit

82. EOQ is computed by :

(A) 2D/C; (B) C,/100
(C) [2DC,/C, (D) D/100

83. © Kinds of share cpaital is :

(A) Bond (B) Mutual fund
(C) Equity share capital (D) All of these

84. Proprietary ratio relates the shareholders fund to :

(A) Total assets | (B) Profit

(C) Loss (D) Dividend
85. Inventory turnover ratio is known as :

(A) Cash ratio (B) Cost ratio

(C) Stock velocity (D) Profit ratio
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81,  wn-fase fag # o #3 = W ¥ 2
(A) fegr srwE/e-wE S (B) TR &mmav100
(C) 100/fegz = (D) fawaram

82, b @Rw W (EOQ) 1 EUF ® AW ¥ :

(A) 2D/C; (B) C;/100
(€) |2DC,/C, (D) D/100

83. W YSt ® YR ¥ :
(A) @iz (B) HENE ®
(C) el 3w gt M 3 g+t
84. wﬂaa@m(mpﬁewmnaﬁo)ﬁamamaﬁmmmt?
(A) F@ weafed (B) @
(©) = (D) =
85. T wHaier I W S ¥
(A) w7 A (B) ®rE FTE
(C) w=fs fa (D) =™ 9™
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87.

88.

89.

90.

Which reflects changes in the working capital ?

(A) Balance sheet (B) Sales

*(C) Fund flow statement (D) Profit

Material usage variance is computed by :

(A) (SQ - AQ) (B) AQ/SQ

(C) (SQ - AQ) x SP (D) SP x AQ
Nominal Alc is :

(A) Wages Ale (B) Patent Alc
(C) Prepaid Ale (D) All of these
Debit the receiver and credit the giver is rule of :
(A) Nominal A/lc . ~ (B) Personal Alc
(C) Salary Alc (D) Rent Alc
Capital account is opened in case of :

(A) Merger (B) .Part.ners'hip of business

(C) Purchase of business (D) Trading
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8. W wew we S e W v w2
(A) feafa famam (B) faw=
(C) wm-ware faag (D) =My
87. Wt wEm faewor & @oEn # oS § o
(A) (SQ - AQ) (B) AQ/SQ
(C) (8Q — AQ) x SP ‘ (D) SP x AQ
88. AW @ ¥
(A) Wt (B) %2 @m
(C) ##fg @ (D) F =\l
89. e @t fidien oz #fez & fimw ww fom ¥ .
(A) =HETE " (B) =fFr@ @ w1
(C) T @ral 1 (D) fwm am =
90, st mw fEw e # wen wm d 2
(A) foem (B) WFET sHawm

(C) =1aa9] %4 (D) =R
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91. When a company whatever amount is demanded after allotment is known

as :
(A) Call money (B) Paid up money
(C) Profit (D) Share

92.  When net profit is Rs. 2,25,000; taxes Rs. 25,000 and net worth Rs. 10,00.000,

what is the rate of return on shareholders' equity ?

(A) 22.5% (B) 20%

(C) 25% (D) Cannot be calculated
93. Receipt and payment account record transactions of :

(A) Revenue receipts and payments only

(B) Capital receipts and payments only

(C) All receipts and payments relating to the current year only

(D) All receipts and payments relating to the current year, succeeding year

as well as preceding year

PGT (Commerce) 2016—B 42



91.

92.

93.

W9 UH FEE AEET # oA w iy uiedt & oA 3® wea €.
(A) Fra oo (B) H&a ufw
(C) =w D) |

A 7[& =9 2,25,000 %, F 25,000 7. 3R 7z TW@ 10,00,000 5., 8 A srernfra

®1 TR WOWETE w7 ;W OA ?

(A) 225% (B) 20%

(C) 25% (D) Torr 7@ W W A
wi| 3 ymm = e a2 = sfafafes s@ & 2

(A) =ad s wiiteal am e

(B) #H=a1 g wifterl agr spram

(C) =] @ | wafya adt wiiea! el syam

D) =g 94 ® we-wy fara ad § watam wdt wfedt sk ogem
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94. A machine with a written down value of Rs. 10,000 has been sold for

Rs. 13,000. The amount realized is a :

(A)

(B)

(C)

13

Capital receipt and profit involved should be transferred to capital reserve
Revenue receipt
Capital receipt and profit involved should be transferred to general reserve

Capital receipt and profit involved should be transferred to Profit &
Loss Ale

95. Making the provision for bad and doubtful debts in anticipation of actual bad

debts is on the basis of :

(A)

(B)

(&)

(D)

Convention of disclosure
Convention of consistency
Convention of conservatism

Convention of disclosure and consistency

96. A and B are partners sharing profits and losses in proportion 2 : 1. They

admits new partner C whom they give 1/5th share in profits. The new profit

sharing ratio will be :

(A)

(C)

8:4:3 (B) $3:2:1

o7 X2 D 4:2:1
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94. UF [y o wv@f@Ed 99 10,000 % %, 9% 13,000 & # 39 o 96 £, @
utyr weard ¥ o:

(A) g witn qw waf@ o, 96 w99 4 waefa fee oW aife

(B) s wiid

(C) dsfma wiite q we=fa @y, §o= ¥9g § waaia &2 s =i
(D) Yo wita qun wafaa o & av-wf @R § waefa fFu 9@ ko

95. drafa® TAI A H (A H g wE iR ey B & feu smeE a o

HER ¥ :

(A) WHSHET H GO

(B) UHEGA T IO

(C) wfeafem =t vomu

(D) WHEHM 3 THETW F T

96. AR B, 2:1 7 wy-wf # wiza ¥ C 7 wEEr & oa@wl d§ 15 ym & fau
e sw@ ¥ 7 ww-wf sow @m o

(A) 8:4:3 B 3:2: 1
) 2131 M 4:2:1

PGT (Commerce) 2016—B 45 P.T.O.



97. Which one of the following accounting equations is correct ?
(A) Assets = Owner’s equity
(B) Assets = Liabilities + Owner's equity
(C) Assets = Liabilities — Owner’s equity
(D) Assets + Liabilities = Owner’s equity
98. Consider the particulars given below :
Sales = Rs. 60,000
Variable cost = Rs. 25,000
Fixed cost = Rs. 30,000
Based on these data, the operating leverage shall be :
(A) 5 (B) 7
(C) 8 (D) 9
99. Marginal cost is a :
(A) Additional cost (B) Full cost
(C) Pure cost (D) None of these
100. AFC is computed by :
(A) TFC/Q (B) Q/FC
(C) TFC/FC (D) FC/TC
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97. Tr=iofad 9 ¥ wFw Smaiss Sieo v@ & 2
(A) wmfa = =ifts =+ sfed
(B) g = wifre + wfae 1 sfed
(C) wufa = Tifad — =i =1 sfaae
(D) w=iY + e = =fha F7 3feet
98. = Ru o famw wowm A .
fawa = 60,000 =
fEdeiE @R = 25,000 %.
frgr @ma = 30,000 =
IYF BRI B NN W Hawr faats s oam 7
(A) 5 (B) 7
(©) 8 D) 9
99. Hm T o ¥ ?
(A) sfafea =rm (B) Tof @
'(C){REWEI (D) 778 | =g &
100. @hwa ™ @U@ H WO F ST ¥ o
(A) TFC/Q (B) QFC
(©) TFC/FC (D) FC/TC
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